HIWIN.

MULTI-AXIS ROBOT

Ztlar A

Za=gich s




e

cBNMETHRTANETE
EAERBIEAENERENS  SREERITAOT - EHA
TRAEARSY BESRITES TR NEET - Er 4l
F=RELUTBAZE -
Iz A 43 5

A% mER - WRRE S NFGETH - AEEL -

Articulated Robot

RT605-GB
RA605-GC »+

RAUAHGEFE

. &’& % B3] RT605-GB RA605-GC
. . - HHE 6
L 5z f1 Bilkg] 5
LN =oAL 7
RRIBFFEZEImm] 710 909 710 909
J +165
J2 +85/-125
* 31 HREEEE25mm > K TEEE300mm {
k {; EEE J3 +185 / -55
[degl J4 +190
_ h - J5 +115
= | J6 +360
- B ESHEImm] +0.03 +0.04 +0.02 +0.03
3 AR ] [s1* 1 05
1 ' ‘ Ei&lkgl 40 45 40 45
-, ﬁ- BiEiak 241 IP32 P65
' RA405-710-GC C E ﬁ HS =2 RCT605-GB RCA605-GC
RT605-710-GB K SEME T EESEEL
RE& /IR - CE/RoHS2.0
*F1 : AREEBE25mm ¢ KFEEEE300mm
S/ TIER A Vs Ve Vo Ve Ve A Vi v, v,
RT605-710-GB 650 710 1215 1055 272 67 338 R242 R304 R249
RT605-909-GB 848.1 909.8 1571 1254.8 334.2 24.7 438 R302.5 R439.8 R564.3
RA605-710-GC 650 710 1215 1055 272 67 338 R242 R304 R249
RA605-909-GC 848.1 909.8 1571 1254.8 334.2 24.7 438 R302.5 R439.8 R564.3
165° BAL: mm

@5H7, Depth 7

@5H7, Depth 7

4-M5X0.8P, Depth 6

Motion space

165° atpoint P VIEW A VIEW A
Top View Mounting Flange Detail Mounting Flange Detail
(RA605-GC Series) (RT605-GB Series)
Va Vs
Ve
Motion space
at point P
Vi Point P
4-@11 Installation hole 2L
- 180
x &) b
> 7 o <
= _L 450 ™~
2 i S ™~ #8:3% Depth 10
- ol o
® =i
5 ; 8 A
T = 08:003, Depth 10 4
S
] VIEW B
30 Front View Installation Interface Detail
T v

15
Side View



Articulated Robot

RA610-GC -

RO FFE

it
EREENETANETFE

EBEZMEaltENER > AneERRELAES THEEE
TR - BANIRIT RS S BRI AN BT E TR EEL

A A B R AT IR -
Rz FA <51 45,

8K EEL > R MERE - TR ETR -

B3] RA610-GC
BHE 6
} HE 18 kgl 12 10 10 7
=K #(kg] 14 12 12 9
RRIEFFZImm] 1355 1476 1672 1869
J +170
J2 +95/-150
EHEE J3 +185/ -85
[deg] Jb +190
4 J5 4135
J6 +360
ESHEImm] +0.05 +0.06
JE BB A [s1* 31 1
Ei&lkgl 143 147 150 152
‘? e IP54(FBEETIP65)
ras10-1476-6cc CE€ ROHS 515 RCA610-GC
KRG SEGRE TRESEEL
T & /IRITE CE/RoHS2.0
*E : HREEEE25mm ¢ KFEEEE300mm
S/ TIER A Vs Ve Vo Ve Ve A Vy v, v,
RA610-1355-GC 1075 1355 2343 1663 3725 182 552 R232.5 R575 R688
RA610-1476-GC 1196 1476 2587 1785 368 304 678 R228 R697 R904
RA610-1672-GC 1392 1672 2979 1981 463 500 878 R323 R892 R951
RA610-1869-GC 1589 1869 3374 2178 630 697 1078 R490 R1089 R1129
B4 : mm

Top View

Motion space

Ve

« A

Motion space
at point P

Motion space

at point P

Ve 101,

Point P

160

640

448.5

Vo

VE

Side View

Ve

Ve

(40h8, Depth 5

@5H7 , Depth 5
4-M5x0.8P , Depth 8
(@20H7 , Depth 5

VIEW A

Mounting Flange Detail

Front View

300
260

T ¢
\ 2-98°3%, Thru

P.C.D. 305+0.2

4-@16 Installation hole'
VIEW B

Installation Interface Detail




Articulated Robot

RA620

RO FFE

&

cBAENNRTANEFE
B A KM T/EEE SR e B R E 4L RrI L
I 5SRARRER 0 BRTIRE ML B RHEEE L]
R -t BEFE L T AN #E(T AR T 489 £ RREUR R -

Rz P 4
- B% - FED  TANLETH - 25 - WAFE - B -

| g T BmE 7
u’» BE S #i kgl 30 20
' =R R kgl 33 23
i RAEFFEEImm] 1621 1739
J +180
J2 +100/ -135
ETEE J3 +190/-80
[deg] J4 +200
J5 +130
J6 +360
ESHEImm] +0.06
FEBAR Bl [s1*3%1 0.9
E&E[kgl 226 230
i+ IP54(FBEARIP65)
RA620-1739 fslgs RCA620
RHSERE SRS EES
31 BEEEBE25mm » KFEEER300mm
RME/TIER A Vs Ve Vo Ve Ve A Vy v, v,
RA620-1621 1321 1621 1996 721 443 310 685 R293 R701 R821
RA620-1739 1439 1739 2114 838 438 428 805 R288 R819 R906
Bt mm
@B6H7, Depth 6
RV8 4-M6x1P, Depth 10
(#25H7, Depth 6
Top View Motion space VIEW A
atpoint P Mounting Flange Detail
V, Vs
4-018 Installation hole 340
N 280
- v S Ralnt P “n 2-913 58, Thru \ 120
\\
o ﬁ (o . [V
d S = | 8
g 0 o ol o
, 3 5|8 g
Y >
o D &
5 : é A ©)

Ve

S

Side View

N

268 276
24d VIEW B
Front View Installation Interface Detail



Delta Robot

RD403

HENFZTFE

e

RATATERNG  BARANITEEERSERES  HAE
RERZIERE RENEBENE - SEBRESSHERLS
BEOREHEERRASURAFHREN  XUWEEFHENE
REE ~ Hrifk Lk

HBIP6SHIBTIFER  E&UFERERI LU A =4 M A
HageDEHNE -

RD403-1100-FSHRFBEN1672-2 2%t » & & @=L IRA] % F
MEFELRBBHUETFRBETLTR  IHARBRFL
AEHEHEN

Rz 4% 45
B~ A FHIE o #HE R o
S RD403-1100-FS RD403-1100-PR-GB
BHE 4
FE 1 kgl 3
RKRIEFHERImm] 1100
R KIEZNE EImm] 300
EEREEImm] +0.1
JEEART A [s1*331 0.3
EE[kgl 95
iEiaE e IP65
2 88 RCD403-GB
BEmIENTE TFAREN1672-2 =
R & /IR RoHS CE/RoHS

* T AREESE25mm » K FEEES300mm

o | s |
r- - “\
. ‘ o

|
A
RD403-1100-FS S
C€ ROHS

HS/TIERT

RD403-1100-GB
RD403-1100-FS

RD403-1100-PR-GB

Va
31.9

39.5

Vs

T.C.P. Tool central point

Recommended workspace
(900 x 250 mm

T.C.P. Maximum envelope

View B
Warning zone
Y
1350
3-Hanging rings 0
(M8x1.25P B.C.D. 532) _ Reserved space for installstion
0580
J2
==
A|f II‘\A
< | 7.8
X /;""ii
\'/ :\\ \1
v' R VY
- X

™ B
=
- T Installation surface
s s e
<
I
o N N
i ﬂ
N

o 10|
N o~
0| ~]

~O|

~Oj

A
A\VA\Y

ol
& o

)
o
i 1

A
0550
?1100

View A

4-M5x0.8Px9DP

B.C.D.31.5

@5H7x7DP
B.C.D.31.5

CN2 [Motor Cable)

\ Battery retainer

=
~.'\’/

r

Y=

6M12x1.75P THRU B.C.D. 650

*Fixing holes for Manipulator
(6-M12x1.75Px35L)



SCARA Robot

RS405
RS410

BRI ETFE

e

BAERESER TENLFANETFE FENBTEME
G - TR EAAREG BT - A AEHEA
RRG  RBBAEE  REHBVEESN - FARARGET
1Rtk BASRIN IR R AR RA R
SHE o

Iz AR 43

B 83K B A% PR - S G e

LE
#75 RS405-LU RS410-LU
: HHE 4
H'I'“.I" ey 5
- e/ R A M E kgl 2/5 5/10
J ® BXiEZ*EImm] 400 500 600 700 800
' J1[deg] +130
R J2[deg] +130 +150
EFEEE E
J3[mm] 200/400
RS410 BAHFhR J4ldeg] +360
JE HR BT 18] [s]* 531 0.42 0.52
J1-J2[mm] #£0.01 #0.02 +0.02 002 =+0.025
EERE J3[mm] +0.01
L J4[deg] +0.01
C€ ROHS KWAMESEImm]  06x2, 0lx] 0633
E&[kg] 22 23 30 31 32
a5 1P20/%1P40
2 B8 RC4
RS405 tR/AERR & /IRITE CE/RoHS2.0
g FREE
*EE  *F1 : AHREESE25mm ¢ KFEEEE300mm
S /TIER A Vg Ve /A Ve Ve A Vy v, v, Vi Vo
RS405-400-200(20P)-LU £410(456.5) 200
602 225 150(125) R225 R400 R452 R175.1
RS405-400-400(40P)-LU " 610(655) 400 720 130°
RS405-500-200(20P)-LU 410(456.5) 200
702 325 148(123) R325 R500 R552 R251.3
RS405-500-400(40P)-LU 610(655) 400
RS410-600-200(20P)-LU 410(461) 200
816 325 R325 R600 R666 R162.7
RS410-600-400(40P)-LU 610(661) 400
RS410-700-200(20P)-LU 410(459) 200 A
916 425 275 167(142) 780 R425 R700 R766 150 R232
RS410-700-400(40P)-LU 610(659) 400
RS410-800-200(20P)-LU 410(459) 200
1016 525 R525 R800 R866 R318.1
RS410-800-400(40P)-LU 610(659) 400
B mm
FRAERR kil

Power & signal cable :2m

150

@14 Through Hole
02017 (*3051)

Ve

(Vs)

Z Axis Stroke Ve

A DETAIL

u |

=

040*0.039

4-09 THRU
L 101536

C DETAIL

B DETAIL

N

Vo

15PIN D-SUB

Ve

Pneumatic Pipes @4

(Ve)

Z Axis Stroke Ve




Multi-Axis Robot Controller

5h I R ~F

© 1 © [ 1L ]

i ﬁg?ﬁﬂ

MR FEES

RCA620

RCA620

RCT605-GB

RC4
e RCA605-GC RCA610-GC RCT605-GB RCA620 RCD403-GB RC4
A 6 6 6 13 4 4
E2[kgl 29 34 29 80 34 13
_ - 5 - *ox - ko -
L, WammmRTEOomeor g miecn | emesens oo
BREERTA) 8A 18A 8A 22A 4.5A 12A
IigEl/0 8in/8out 8in/8out 8in/8out 8in/8out 8in/8out 8in/8out
& G A*Es
#HLl/0 24in/240ut 24in/24out 24in/24out 16in/160ut 24in/24out 16in/8out
RS232 v v v - v v
lMochJsu458—5RTUl v v ) ) B v
¢ BiTE Ethernet v v o v v v
% Fieldbus  CC-Link, PROFINET | CC-Link, PROFINET = CC-Link, PROFINET - - CC-Link, PROFINET
USB v v v A v v
* YRADER FE RHEIEL * * * - @ 4ch *
TRIRELC] 0~45 0~45 0~45 0~40 0-45 5-45
TR E%] 20~75 (R4 8 20~75 (&) 20~75 (R E) 45~85 (RN ER) 20~75 (RE & 20~75 (R4 8
[Tk 7 IP23 1P23 IP20 IP54 1P20 1P20 1P23
R=F(W x H x D) (mm)*sE4 470 x 328 x 460 470 x 328 x 554 470 x 328 x 460 550 x 872 x 530 470 x 328 x 460 400 x 205 x 366
RE&/IRMRITHE CE/RoHS2.0 CE/RoHS2.0 - - CE/RoHS % CE/RoHS2.0
& 5
* PR

*SE X AR h30380V ¢ 25 [E 2 T % FA30380VAE 220V ~ 5KVA
72 1 HMX BIR 430380V » I ERE 1%L F30380VFE220V ~ 2KVA
73 1 AT FRIERL (VB 2 RCD403-GB)

T4 REEM LR



EHHEERSES

BE RFE
HIWIN GmbH
OFFENBURG, GERMANY
www.hiwin.de
www.hiwin.eu

BA P - FR - BHE - KE -

it - 886 - JLbE - TR -
&R - feAs
HIWIN JAPAN

KOBE - TOKYO - NAGOYA * NAGANO -

TOHOKU - SHIZUOKA - HOKURIKU -

HIROSHIMA - FUKUOKA - KUMAMOTO,

JAPAN
www.hiwin.co.jp

=E ZmE

HIWIN USA
CHICAGO, U.S.A.
www.hiwin.com

BAF K=

HIWIN Srl
BRUGHERIO, ITALY
www.hiwin.it

It fhen
HIWIN Schweiz GmbH

JONA, SWITZERLAND
www.hiwin.ch

5 WRE

HIWIN s.r.o.
BRNO, CZECH REPUBLIC
www.hiwin.cz

EE HERETE

HIWIN FRANCE
STRASBOURG, FRANCE
www.hiwin.fr

iR

HIWIN SINGAPORE
SINGAPORE
www.hiwin.sg

HIWIN. L 3R.

LB (RE) BRAT

HIWIN TECHNOLOGIES (CHINA) CORP.
ST AT TN Tl E X B Ei2S

Tel : (0512) 8068-5599

Fax: (0512) 8068-9858

www.hiwin.cn
business(@hiwin.cn

BE KR -8F

HIWIN KOREA
SUWON - CHANGWON, KOREA
www.hiwin.kr

&gl g%
Mega-Fabs Motion
Systems, Ltd.
HAIFA, ISRAEL
www.mega-fabs.com

EREEZEAD

FREHZ D BRAT
HIWIN TECHNOLOGIES CORP.

www. hiwin.tw
business(@hiwin.tw

KRR D BRAT

HIWIN MIKROSYSTEM CORP.

® HIWIN ESRAHAEM BT » B2 A 01 8 f 4P BRI -

o REFHHME - RAERNSSRMRTREMER  BFEFAANRMSBONISIE SR ETHHIER

® HIWIN F=REF7E B EE ML ¢ http://www.hiwin.tw/Products/Products_patents.aspx

o %" RGE FFEMREIZHXFEARER  HIWINERSEMEE HE - BZEH OHIWINSZ FEISER S E O
NARIEASOERE EEVXRRBFHOFR  AABEEETRERZT « £ - VEEERRHBA -

www.hiwinmikro.tw
business@hiwinmikro.tw

FHERHHNBEMEEREE - MASTEH -
Copyright © HIWIN Technologies Corp.

©2020 FORM C99DS07-2012 (PRINTED IN TAIWAN)



